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s foAs =
FEAENGRE
T | 6 FERER AL NAAEMX G R T H
TEHX4y « Tfd - FER B Az W B & #A i il A BN
JE O R 2 1 167, 197, 483
EHET = 1 27,443, 561
A T Y 1 1,189,320 |4mH! 4,400 m3
+4)
| T (ICT) = 1 1,581,360 |#RAI(ICT) 4,400 m3
+4)
AR LT Y 1 989, 151 | B&{A (HLER) A& 1= 170 m3
2. bmATH ;
AR (BL3R) Rk 1= 30 m3
2. 5mPL 4. OmARTi ;
RS+ T (ICT) = 1 19, 455, 240 | B4 (L) BE £ (ICT) 79, 800 m3
PSR+ T (ICT) = 1 352,200 | BEIARRE L (ICT) 1, 000 m3
EEEEIE T (ICT) 7 1 3,876,290 |VEHETE (H)+H) (ICT) 10 m2
+4)
EHEEETE (% 5) (ICT) 7, 250 m2
EE T Y 1 2,017, 440
WA T = 1 1,794,700 |FEHAn 6, 850 m2
ML = 1 222,740 |5 & AT 14 m
WiERE T = 1 64, 546, 076
(== Y 1 460, 400
AT T HREE T (1559 HL) = 1 4,314,960 | = R 72 m3
158 ) ek
BEARAR TR e« 7R - BE T = 1 59, 770, 716 | i 1-RBE SLps 86 m
15498 B FL R
fifio B SLRE 8 m
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THEA | W6 L EE N A SRR S R T

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR

25 o B R

foE L RERE AT - BB 576 m2
t=140mm ;

T BEAA B 11,539 m
PL-80X 4.0 SS400 #v% ;

FEHL-HBH L, FED 4, 600 m3

REMm T kK E 248 m3
C-40 ;

A HKE 336 m3
C-40 ;

W H U BG4S 450 m2
TR ) 22TV R AR AT £ = 2. Omm ;

i U 104 m
L)) =)

L HEk 93 m

25 N HEK 42 m

EEEeVZAR 3 m3

FEHA O-27) 1 X
+4)

T wb AT 1 2V
+4)

7wy (GE) T 2 1 6, 606, 455
e+ T 2 1 77, 551
VAR VARV RN EVZA S VAR PYZ ) =Y 1 6,528,904 |HLBFT IR -} 60 m

Qa0

15 BH AT FLRsE 30 m

BT/ A ka3 ) -} 0. m3
15/ ik

/) =h (R%) 77 ny ) 7E 82 m2
1557 ny) 8

avy )= (1) 77 ny )i 74 m2
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HAGFT Rufgav ) -} 2 m3
15 Ky -}

HEKHEY) T = 1 50, 608, 278

BT = 1 1,011,780

AR T = 1 12,807,980 |7 VivANUBUAITE 232 m
PU1-B300-H300

7" Vi A MU 476 m
PU3-B300-H300

7" Vi A MU 45 m
15 URHE

H 2B RS 31 m
15 B B A EE

NS 56 e
/) -hEgE
HJE A B300 1500 ;

NS 3 e
AT VA
HE A B300 L1000 2 Mt I H

s

ET = 1 19,391,490 | 8kfavs)-hEAHE 33 m
CP-PH-D600
1 B4 87.3 m

AR v T 2 1 2,415,440 | BUGHT B Em 1 (£
154 Ut

BT B IR 4 & AT
2 IR

BT B IR 4 & AT
ST

BT B IR 1 & AT
4 IR

BT B IR 1 & AT
ST

BUG T & 4 Kt 3 (E13i
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IREE V87
BGHT K 1 (£
2558 7K Wt
BGHT K 1 (£
3T
E 8 e
GC-B500-L500
E 5 e
AT VA
T-25 #7500 X500/ W H & VHEE ;
E 1 e
AT VA
T-25 #7800 X 800/ W H & VMETE ;
E 1 e
AT VA
T-2 20002000/ H90 I B ¥ LiAAZ. KO
HNHEAKL = 1 5,961,778 |Hi TFHEAK 491 m
TP-1-2
ARAHEKE 175 m
FAEHEKE 289 m2
BT L Y 1 958,970 | BUSHFIK 17 m
L RR T
NS 17 e
AN VA
T-25 J#HME300 I EH & VEE AW ;
HEAKT = 1 7,871,470 |/NBEHEK 176 m
15 /NBe gk
/NBEHEAK 179 m
25/ NBe K
MEHE7K 53 m
TH-1-1
2 20 e
PC1-B240
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Vol =
FER N E
TH4 | A6 FEREE N A N AR X g R T
TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
M- T = 1 189, 370 | 15 1 # 1 E10
25t 11 1 E10
ES 2 bia
GC-B500-L500
ES 2 bia
GC-B600-L600
EEEET = 1 4,105, 625
TA7 7 Ml T X 1 4,105,625 | FEEE (HE - BIE ) 1,390 m2
RC-40 t=150mm ;
R (HEE - BRI ) 1,370 m2
RM-40 t=100mm ;
g (I - BIF ) 1, 360 m2
FAEBRIEEAs (20) t=50mm ;
fxfa T = 1 166, 800
A T = 1 166, 800 |7Ap-7" 120 m
AC-1-1
HEAT B MR T = 1 878, 462
BhEay )= T X 1 878,462 |V av))-b 98 m
1 BB Eas )=}
CEUEVZAR 50 m
25 BBy )=}
CEUEVZAR 80 m
3By -b
Bh AT L 2 1 1,216,416
FRANIBA AT L 2 1 1,216,416 |h =N b-W 88 m
Gr-C—4E
A,
A 30 m
Gr-C-2B
=
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s Sefe =
FEAENGRE
T | 6 FERER AL NAAEMX G R T H
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
HEYE T = 1 1, 703, 370
s EEE L T = 1 1,127,880 |av))-ME&EWEEE L 100 m3
ARG
A IR A 200 m2
TAT7VMERSERR t=15emPLF
TE LB T =Y 1 575,490 | oE Mk 100 m3
/) -k (BERR)
Stk 10 m3
TAT7IV NS
RISy 100 m3
/) -k (BERR)
RISy 10 m3
TAT7IV NS
A Y 1 7,905, 000
AEEH L Y 1 7,905, 000
[ERAE Xy = 1 167, 197, 483
HiE 2 2 1 18, 953, 709
BISTIGE: = 1 2,953, 709
Bl e gy = 1 1,468, 709 | R AT —FER 2 1 X
PRSP ER (ICT) 1 =
YATLRIE 2 (ICT) 1 F2
BGRESCGES (5 1) = 1 1, 485, 000
B (FEHL) = 1 16, 000, 000
T = 1 186, 151, 192
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R PERE
THEL | A6 FEZIE A SR AR X S R T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e R E20 1 56, 311, 000
T AT 2V 1 340, 486, 782
— e PR E20 1 48,793, 218
Tk 2V 1 389, 280, 000
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s foAs =
FEAENGRE
T | 6 FERER AL NAAEMX G R T H
TEHX4y « Tfd - FER B Az W B & #A i il N BN
JE O R 2 1 66, 162, 018
EHET = 1 54,211, 038
A T Y 1 39,937,017 |HEHI 37, 100 m3
+ab
DS 1 X
T ;
PEHI T (ICT) = 1 14, 274, 021 %ﬁU(ICT) 12, 400 m3
+ab
%ﬁﬁﬁ%ﬂ&“ 1 X
+ab
WiERE T = 1 7,736, 480
AT T HREE T (159 HL) = 1 7,736,480 | /NEUBERE 38 m3
25 1 ) B
) Ak 67 m3
345 8 ) HeRE
HEKHEY) T Y 1 2,425, 500
BIRT = 1 2,425,500 |EkfAH/))-MEFHE 75 m
CP-PH-D600
A Y 1 1, 789, 000
B EHT = 1 1, 789, 000
[ERAE Xy = 1 66, 162, 018
HiE 2 1 8, 262, 572
BISTI S = 1 1, 349, 572
HeffrE sy = 1 642,572 | {RSFEHEL(ICT) 1 =
Y AT L) H 2 (ICT) 1 E
-8 - Etasmy  PESE R




[ B2 VR RS [y T 22 X T AR A L

R PERE
THEL | A6 FEZIE A SR AR X S R T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

BUGBREIUEL (REH L) 2V 1 707, 000
sty (R L) 2V 1 6,913, 000
ol T 2V 1 74, 424, 590
e R E20 1 23, 600, 000
T AT 2V 1 98, 024, 590
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